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Part I Listening Comprehension
Section A
1. W: Excuse me, sir. You are not supposed to be here. This area is for airport staff only.
M: I’'m sorry. I didn’t note this sign. '
Q: What do we learn from the conversation?
. [ BRRRH 1D, 2BREFHEE, L WRE, Sk, LENGITEAR RN, EABEXIL."
B “NAR, REABELET.” BENERETA, XLRIBTHEAR, ZLERE, BT T
AR, Kt RBERHEMET. AR LB ERRARK, REFTRI; B “BLRISBTHEA
R” MCH “XM M ERRELA” BEXTHW: DR “AtAFBLHEA", HLRERER.
2. W:IfI buy some plants for the house, will you water them for me while I am away?
M: Sure, I will. If you water mine while I'm on vocation.
Q: What will the man do for the woman?
[EERRE ) Co ZBMRAVE, Ll “MRRTLTILEE, RAEN, REFRIEKG? 7 B, Y
R MBARFEERFQEFREK, RUERGBBHRIEK.” RUBELRRM LMt A7 AT AR
kB RETTHRE; D “MA EHRFPEE" M B hiSCEERF RN Tl R2ETHRA, C “it
REERT R Beie” RaER.
3. W: Excuse me, professor Hill. May I ask you a few questions?
M: Yes, of course. But I’'m sorry have a class at ten. Why don’t you call me in my office hours. That is 4 to 6 p.m.
Monday, Thursday and Friday.
Q: Why can’t profeSsor Hill answer her questions now?
[ERRME ) Co LM “WATLEJLANEEG? ” #ZEE. ‘WL, BRIQER. HRERLINERR
BRI, RA—, ANAEALTE 4:00~6:00 EHAE, BIEXHETH, BESIAERRE RS bR E S IR
BEl. A “RETFARREME", EETHRW; B “FERARMMIENE" D “MWTREKRT” REXT
$®H; C “MaBARE" RIERER.
4. M:1don’t feel like going out. Why don’t we just stay home and watch TV instead?
W: Come on! You promise to take me out for dinner and to the theatre on my birthday.
Q: What do we learn from the conversation?
[BERRMH]A. B “BAEHE. REXBFARAFG? 7 4. “Rai! FENIRLTEAR
HFREEEEER. A: TEBHEHEX, B: EEARERFRR. C: FLENSHE HHREXBILY. D: 3
+ KRBT, feel like doing sth. FERIBMESH
5. W:I'm thinking of taking five courses next semester.
M: Wouldn’t four be wiser?
Q: What does the man mean?
[ERREH B, &t “BTEPITHBANR.” BL: “BENEAREHT? " BR, BLBEUZ LT
BEWIIR, A “AEEFHERAET “M C “BLTHEHEBEIMR" BEXTHRIC D “BHI TR LEH
B/, B—MEFKB. B “GLTHEURZABRUR,” Wouldn’t four be wiser? Lhr R —ABRAIEL
6. W: I want to ask the Johnsons to come to the party. Do you know their address? |

‘1.




M: No, but I like them to come. I think Tom can give you their address.

Q: What is the woman going to do?

[BEXREH 1B, k: “RAEH Johnson —~FRSIMXKE S, HRABEMIEBIG? ” Bt “Fal, &
WEEAMIIR . t1F Tom RERRIB AR MAL . “REXHERTA, BArfeH M Tom 3R F3B] Johnson #ihL T .
A “ik Tom ZXFER”. B “/82) Johnson Hiiht”. C #i# Tom kS MMES, D “ik Tom %£# Johnson —FK”,
RE BHREER.

7. M: Is Jane looking forward to going home for this summer?

W: She is counting the days.

Q: What does the women imply?

[EXREH ID. BL: “Jane SERXRERARG? L+ “ME—KREOHHFR,” BEHE, Jane RALIH
HBEZR. count the days — KX EF (HLESET)o AT Jane “ZER—HBWTIE” F1 CH “Jane FZEBEK
RoBE £, RIEE TR B Jane “ENBHIBITIEEE", EEEHEN. D “Jane BAMEERTE
B, HeEE.

8. W:Ithink I will take the half-day tour of the city.

M: Why not the whole day?

Q: What does the man suggests? .
[ERERY 1A, &t “RITHIERHRAAZERT.” B+ “NHARE—EXRB? Why notdosth.? £
—AFEARYUNAR; Bk FRENE LRI EREX BT . AT “SHANERLRYE, #
FER. B “FRHEHA—ESIXERT" A C IR “FEFRSAHERXBERT" RiES THRA, D W “kfF
HibARA 5B BB
9. M: This is a one-way street. Didn’t you see the sign?

W: Sorry, I didn’t.

Q: What do we learn from the conversation?

[EXRRHIC. BL: “WBERXRBTEG? " L+ “WAE, BERL.” BEHETH, BLTHREE,
ML TEANBABIRSELICERN T . A P LAEFEAR, BB LAEREFTY, CIRILZAEBRE
BRUT . DN LAEEFEEMET . RIBEE, CRERER.

10.W: I ought to call Joan, and tell her about the reception this evening.

M: Why bother? You will see her at lunch.

Q: What does the man mean?

[ERERY 1A, &L “RAZS Joan ITHIE, HSHBSBAENMIRS.” Bt “WAMAETHA? S5t
EHREERL B, 5 - & VF L ARATIRIT LUE I Joan H4AMERFF &9, FTLL A “MAT LAsP4- RB) Joan B
HVFD” HERET. B “WAZIERHFLSNEEVTF Joan W M D “MFRHEEE X Joan WEH", RIEF
FRIA. C “WRHLE, WAHEA Joan FTHIE", RIEX TR,
Section B
Passage oﬁe

We use all sorts of services without thinking about how we get them. But such services cost money. We pay for
them through taxes. What would happen if everyone in the city stops paying taxes? The water supply would stop, the
streets might not be cleaned, and there would be not police force to protect people and property.

The chief duty of every government is to protect persons and property. More than three fourths of the money spent
by our government is used for this purpose. The next largest amount of public money goes to teach and train our citizens.

e 2.



Billions of dollars each year are spent on schools and libraries. Public money is used to pay the teachers and other public
officials.

Years ago the government made money from the sale of public lands. But most of the best public lands have now
been sold. They money raised was used to help pay the cost of government. There are still some public lands that contain
oil, coal, gas, and other natural products. They could be sold, but we want to save them for future year. So we all must
pay our share for the services that make our lives comfortable.

Questions 11 to 13 are based on the passage you have just heard.

11. What is the chief duty of every government?

[ERERH A, ABR-BEEE: BURMEERERM 27 XEH Bﬁﬁ#&tﬂ The chief duty of every
government is to protect persons and property.(BUFF i F ERERGIF AREEY ™), A MEERE T X/ EE. B
THEBL, CHHERRTR. DEVHARERLULEH.

12.How did the government raise money in the past?

[EXRRE Ic. MR TRXERER . ETE: BUFLARTITEERE? ETPH in the past 53 years
ago 2 F] X & ; raise money 5 made money &7 SUR & ; IEBH%EM C 5 selling public lands F13CH the sale of public
lands S SGFR ( sale 7 selling) K. AT “ExHEREMATVEBESHE", THRREHERS, X
SRFEFX ERTRALAREZHN, B W “WESTEAMN LM, HAEHERE, XEF_BEEORE
BILIRTBT e L HbBRER, TOEREIRNRINAERT (There are--- ), FIRBHMTEWAZ—, DI “HERRAKE
b BREW”, BIEETHRA.

13. What is the passage mainly about?

([ERERE IB. 2BERESE. AT “FREBREHMME” M D “ATHBERKSE", XHHRRR, CEE
P AR, ARERBGAERMIERE, B “BBSAMERE" SXHERFIINE B,

Passage Two

When I was at school, my ambition was to be a pilot in the airfofce. But my eyesight wasn’t good enough. So I had
to give ub that idea. I went to university and studied physics. I wanted to stay on there and do research. But my father
died at about that time. So I thought I’d better get a job and earn my living. I started working in an engineering firm.

I expected to stay in that job for a long time. But then, they appointed a new managing director. I dicin’t get on with
him, so I resigned and applied for a job with anothel; engineering company. I would certainly have accepted the job if
they had offered it to me. But on my way to the interview, I met a friend who was working for travel agency. He offered
me a job in Spain. And I had always liked Spain, so I took it. k

I worked in the travel agency for two years and then they wanted to send me to South America. But I had just got
married. So I decided to stay here. Then we had a baby and 1 wasn’t earning enough to support the family. So I started
giving English lessons at a school in the evenings.

I liked the English teaching more than working for the travel agency, and then the owner of the school offered me a
full time job as a teacher. So I resigned from the agency. Two years later, the owner of the school wanted to retire, so he
asked me to take over as the director. And here I am.

Questions 14 to 17 are based on the passage you have just heard.

14. Why did the man give up studying physics?

[ZEXRMH ] D, 7E I went to university and studied physics. I wanted to stay on there and do research. (& Tk
¥, ¥IYR, MBI ILGHE HERTEIT, SR, FRBA TAERIFE A 2 (but my father died at about
that time. So I thought I’d better get a job and earn my living. )3 earning my living 55 D J¥ support myself & X
W, AEREREN. AT “AEERWE", 53CFEE, HREGARF. B “IhRE", XRMAMR

* 3.
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BEWFRE. CH “YWENMRHAR", SOPRER.

15. Why did the man resign from the engineer firm?

(BRERH] A, AR TEAAERERAARRT —H FE, WAMFLAXEARFHER. (1
didn’t get on well with him. ) not get on with him £ A I not happy with the new director [F] X & , RIEMER,
B IR MARBEARTAERAR L, CIMBERTSAICRMT. D ITEEAITIEMR, XhEdgsl.
16. Why did the man take the job at the travel agency?

TEERRN ] C. AT ATERITMTAET? BhaES R ITBARERME BB —MERTE TR
K, XIARSGNEbETTBFAIMATH TE, (but on my way to the interview, I met a friend who was working
for a travel agency. He offered me a job in Spain. ) b — B ERFEHF (and I had always liked spain... ), FREZ
BT, FEBRNE CHBETHET. A “MBAHR—EIE" MB “MERFPRKT XEPEER.
D “MhETRAFEREARI” SXERH.

'17.Why did the man start to teach English part time?

[EEREH ) B, v H-AFMLANRESZEE? BISEANEE, SFNENE, PHNRRELER,
B I b Al 24 3EE ( then we had a baby and 1 wasn’t earning enough to support the family. So I started giving
English lessons at a school in the evening. ) , B IR GZHfF, A TBERBIGE, CIRKER SRR, DY
B HAERTHBNES, XETHEEB R

Passage Three

Columbus sailed from Spain in September 1492, looking for gold. Native Americans greeted him, offering corn.
Columbus found little gold on that trip, but he collected many plants, including corn to bring back to Spain.

Columbus didn’t know it. But the corn was much more valuable than gold. Farmers from Europe to Asia accepted
immediately. They grew it on cold, mountainsides and in tropical forest. Today it feeds millions of people all over the
world.

On his second trip, Columbus brought back a few chocolate beans to make chocolate. Europeans and Asians loved
this new drink, and soon they were j’)aying a great deal of money for the beans. Chocolate beans became so valuable in
Central America that they were used as cash for 200 years.

Tomatoes and potatoes took some time to become popular. Eventually, however, they became the basis of a lot of
popﬁlar food. It is hard to imagine life without fried potatoes and chocolate. Thanks to Native American cultures, many
people are able to enjoy lots of tasty ‘food.

Questions 18 to 20 are based on the passage you’ve just hear(i:

18. Why is corn feeding millions of people today?

[EERRH 1D, WHALEFAUEKRNER? & Today it feeds millions of people all over the world..Z R —
4% They grew it on cold, mountainsides and in tropical forest. 43 TRAVER, RN EBEMHRE, - RRBAK
WRKERESERE. SCPRRI TR, REKENEE S, HKA, B, C Rk,

19. What did Columbus bring back on his second trip?

[EXERH ] D. BOAE _REMZATHEIRRA A S (chocolate beans ), FHEIMAIFHEHRRITER: On
his second trip, Columbus brought back a few chocolate beans to make chocolate.

20. What was the result of Columbus’s two trips to America?

(HRER ] B, BFRAWHKREMZATHARRML? TUNXEMRE —EBDER: Thanks to the
native American cultures, many popple are able to enjoy lots of tasty food. ( 825 T HA LIEY, MEARRMED]
HEFEERAOEY. ) RF)ES B TP they made native American foods popular. R HEHE .

4 -



Part 11 Reading Comprehension
Passage One .
The biggest safety threat facing airlines today may.  21. The passage is mainly about _____
5 A) a new regulation for all airlines
B) the defects of electronic devices
) a possible cause of aircraft crashes

not be a terrorist with a gun, but the man with the
portable computer in business class. In the last 15 years,

pilots have reported well over 100 incidents that could D) effective safety measures for air flight

have been caused by electromagnetic interference. The 55 Wwhat is said about the over 100 aircraft incidents in the

source of this interference remains unconfirmed, but past 15 years?
increasingly, experts are pointing the blame at portableym A) Thfay may have been caused by the damage to the
electronic devices such as portable computers, radio and \ g  radio systems.

tte players and mobile telephones. B) They may have taken place during take-off and
landing.
C) They were proved to have been caused by the
RTCA, an organization which advises the aviation passengers’ portable computers.
(#i25 ) industry, has recommended that all airlines ban D) They were suspected to have resulted from
(#&1k ) such devices from being used during “critical” electromagnetic interference.

stages of flight, particularly take-off and landing. Some 23. Few airlines want to impose a total ban on their

experts have gone further, calling for a total ban during passengers using electronic devices because

A) they don’t believe there is such a danger as radio
all flights. Currently, rules on using these devices are left J ey dot i §

interference
up to individual airlines. And although some airlines .. gy o parmful effect of electromagnetic interference is
prohibit passengers from using such equipment durin yet to be proved
take-off and landing, most are reluctant to enforce a total C) most passengers refuse to take a plane which bans
ban, given that many passengers want to work during the use of radio and cassette players
flights. D) they have other effective safety measures to fall
back on

. . . . 24. Why is it difficult to predict the possible effects of
The difficulty is predicting how electromagnetic . .
electromagnetic fields on an airplane’s computers?

fields might affect an aircraft’s computers. Experts know A) Because it is extremely dangerous to conduct such

that portable devices emit radiation which affects those research on an airplane.
wavelengths which aircraft use for navigation and B) Because it remains a mystery what wavelengths are
communication. But, because they have not been able to liable to be interfered with.
duce these effects in a laboratory, they have no Way%C) Because research scientists have not been able to
produce the same effects in labs.

of knowing whether the interference might be dangerous ]
D) Because experts lack adequate equipment to do
or not.

such research.
25. It can be inferred from the passage that the author
The fact that aircraft may be vulnerable ( 5324 )

to interference raises the risk that terrorists may use radio A) is in favor of prohibiting passengers’ use of

system in order to damage navigation equipment. As electronic devices completely

5 \ s B) has overestimated the danger of electromagnetic
worrying, though, is the passenger who can’t hear the ) g g
. . . . . interference

instructions to turn off his radio because the music’s too s . - .

C) hasn’t formed his own opinion on this problem

loud. D) regards it as unreasonable to exercise a total ban

during flight
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SR BT NG Bl 69 % 2 B T 8 I R R — AN ey B 5 F MRS F A F AL AR
Ao EREZH ISP, BRAHKCOCBRET —FSRTHER Y WA TG AR FI, BTG RBAH E
I%Q,ﬁiﬂ%ﬂi%%i%%ﬁﬁkgﬁ%%%%ﬁ%,mbiﬁi%ﬁ\&%m\i%m#%ﬂa

mtAﬁﬂA@ﬁilﬁﬁﬁgﬁ%ﬁa,%gumﬁwxm#&ﬁﬁié%ﬁw%%%&,t;iﬂ%#
Mg e B %, 48 X b F ik 4 BA -+ R B, RAVAD L RATH AR 2 A, 4% 52 k48
R B% &, B AT £ T ol 4 1% 2e 3% & 64 3058 LERBMENE] BT EH R, REH— B N3 kA
LAEY S VS BT TGS P HNFNERERBRELELZ TRy FARE b AE IR A B AR
SRBARRE A AT AR T,

?ﬁm%Eﬁ%ﬂ’&méﬁ@ﬁ%f*ifé#ﬁéﬁ#ﬁvﬁﬁ—fiéﬁxﬁfia Kk, FTRE 5 453 6 & TR 4 K S th— sk ds
5, A HEEYra kALA R AR B R 0 R 1R AR ST Dbk AAMHRE, BT VA% A1
BB Joill Xt Yoty R A E WY RRAREN,

AT RE % AT % v, X — 5 R THAM A5 FH A . A— B RGBT H S AL E S, BE:S
LAWY F — A2, ﬁ%ﬁ%ﬁm%&%ﬂ%iﬁm%%ﬂ-ﬁtkéﬁ%, G N2 X R BT
HEG AT,

21 [AER Y | &R EF

(EEKE®H ) Cc. +5m, )‘Cﬁi#ﬁs%ﬂ¥#cﬁ?%m2‘ié%§ﬂﬁw¥ﬁ$&Bﬁﬁfﬁﬁﬁﬁlﬁ(,
%JEEEIIEﬁ£w¢¢,%?ummeM§é$&Tﬁw~ﬁ%E%m?

(EERBH ] D a0558, R B A%, itk 154, ATRRE T 100 B KATH AT RE R
THEB@THRT IR, Ha%m “suspect”Rn “REE” MAREE.
%Jﬁﬁﬁllm&ﬁﬁ%@ﬁﬁﬁ%éﬁm%Eﬁm%?&%Eﬁ___

(§¥Eﬁﬁ)no!ﬁﬂaﬂﬁzﬁﬁﬁ—m%.kxﬁﬁ%&a#*a&%&%m%Zﬁmﬁ%&é.
@ﬁﬁzﬁgﬁﬁxﬁ¢zﬁ,ma&%3&ﬁ%%%%m@@*%ﬁxmxﬁ%%m#&ﬁﬁﬂﬁi,ﬁ%&
AHAEET LI, (C) WRET “kﬁﬁ%iﬁgﬁ@éﬂiiﬁmﬁmW%MfﬂFE%"J?E"JWEIL " OAN SR
B,

24 [EHB#Y] )&r’rl‘/z\'ﬂﬁﬁ%f&%ﬁﬂikmﬁﬁm%%ﬂﬁﬁB‘J%“ﬁ%ﬁi&ﬂ@?

[EXR®H ] C. g0, HEE=BE = aEEsT, E%ﬁ%kﬁﬁ&ﬁﬁﬁ@ﬁigﬁi*ﬁﬁtﬂﬁﬁ%
R, UMM ARRER TR A SR . b “reproduce”#l “produce” & B —Ff.
25. [ @A # X ) AARSCHW HifES

(EFRBH A, HimE, YA CRATHE ﬁ%‘ﬁﬁ&@?bﬁ%wﬂéﬁﬁé@ﬂ#ﬂﬂﬁ, B LA 2 A 1)
ToRRR I RF TR,

Passage Two
The rise of multinational corporations ( EE/\ /] ),  26. According to the passage, U.S. leadership in public
global marketing, new communications technologies, relations is being threatened because of

A) an unparalleled increase in the number of public

and shrinking cultural differences have led to an .
relations companies

unparalleled increase in global public relations or PR. B) shrinking cultural differences and new communica-

tions technologies
American invention, the U.S, leadership in public relations C) the decreasing number of multinational corporations
is being threatened by PR efforts in other countries. Ten inthe U.S.

Surprisingly, since modern PR was largely an



years ago, for example, the world’s top five publicﬂ—[)) increased efforts of other countries in public

relations agencies were American-owned. In 1991, only
one was. The British in particular are becoming more
sophisticated and creative. A recent survey found that
more than half of all British companies include PR as
part of their corporate ( /AF /) planning activities,
compared to about one-third of U.S. companies. It may
not be long before London replaces New York as the
capital of PR.

Why is America lagging behind in the global PR

race? First, Americans as a whole tend to be fairly

provincial and take more of an interest in local aﬂ’ans\

Knowledge of world geography, for example, has never
been strong in this country. Secondly, Americans lag
behind their European and Asian counterparts( i} B
A\ )in knowing a second language. Less than 5 percent of
Burson-Marshall’s U.S. employees know two languages.
Ogilvy and Mather has about the same percentage.
Conversely, some European firms have half or more of
their employees fluent in a second language. Finally,
people involved in PR abroad tend to keep a closer eye
on international affairs. In the financial PR area, for
instance, most Americans read the Wall Street Journal.
Overseas, their counterparts read the Journal as well as
the Financial Times of London and The Economist,
publications not often read in this country.

Perhaps the PR industry might take a lesson from
Ted Tumer of CNN (Cable News Network). Turner
recently announced that the word “foreign” would no
longer be used on CNN news broadcasts. According to
Tumer, global communications have made the nations of
the world so interdependent that there is no longer any
such thing as foreign.
[(XEXE]

relations
27. London could soon replace New York as the center of
PR because

- A) British companies are more ambitious than U.S.
N

companies

B) British companies place more importance on PR
than U.S. companies

C) British companies are heavily involved in planning
activities

D) four of the world’s top public relations agencies are
British-owned

28. The word “provincial” (Line 2, Para. 3) most probably
o . '

% means :

.A) limited in outlook
B) like people from the provinces
C) rigid in thinking

D) interested in world financial affairs
29. We learn from the third paragraph that employees in
the American PR industry
A) speak at least one foreign language fluently
$£ B) are ignorant about world geography
L—C)' are not as sophisticated as their European
counterparts

D) enjoy reading a great variety of English business
publications
30. What lesson might the PR industry take from Ted
Turner of CNN?
A) American PR companies should be more
internationally-minded.
B) The American PR industry should develop global

communications technologies.

i
#

C) People working in PR should be more fluent in
foreign languages.
D) People involved in PR should avoid using the word

“foreign”.

MABENGHE S, THLHML, HBRR RO ERAALFOR D, 2RARLRATHHRAGER

¥k,

PACERH R, ARARLEZARTARALRGE A, (22 £ BAME£L RN T FRAERAAER
Pk, Bldn, THEATERHLTELGALAZ2ARALANS, 22T 1991 $RAA-FRALENS
7. ERFE, AREREAARAES, ARAE L, RiEG—ARASLI, AFHA KRN Hie
AEE AN BB~y MELRARA X~ LM, TATRART 34, tE#t2KEL

7 -



HRBANEL RGP ST

AMLEXBRELRNELAGESTEER? $—AR AA, XEAEHBERF EHLER T, AW
%?%zé%ﬂgmﬁﬁ,%@A%&%%@hﬁéimia%:,%@AE?&%L%%ﬁﬁxhﬁﬂﬁﬂ%
A@mﬂmMmmm&awi@&ﬁ£¢xﬁxﬂ5%%Aé%ﬁ%ém@m&Mma&ﬂﬁ%mﬁk&ﬁmo
m&,&—g&wAﬂz,ﬁ—%%é—%ui%ﬁlﬁmﬂ&mﬁiﬁéo§5*¢&Ei.&@%M$&%
REANASEGRF S MLz, WA e RN, K SHEBARE (11 BiR), 122 B F MK F4n
BATRMAR Rk (S REAFHIR), RS S L P R O S S (BrkptiR) = (B3
R) R&, LRI L£LAAMNKEREE .

&%%%ﬁ&ﬁﬂﬁ%?uuch%nmmma%z#ﬂﬂ%iﬁommaﬁﬁﬁﬁﬁ“mm@”v%@
97 EANE R B A/ CNN 89 48 & RIRA LR AR ER LM AR RERWHARE, FIAEAH 2
RETAMHMERL “SpEEH".

26. [EHF ) %@EZ‘J@%%?EE‘J%E%&E%@JE‘Z%E@E‘

(SRR ] D, W9, 8 B fegam TEHA, R Fofth B R AE AL R T % Ay,
27. [AEH#N ] BT REAR PRI 4R 0 3636 B ey REK_

(EXRMH 1B, WV, 768 B igms, ﬂi&ﬂ@~’l‘ﬁ§ﬁ%~§¥ﬂ‘l%@ﬁﬂ?ﬂ’&é¥%%ﬁfﬁ
NEIBTER 4y, AL R 173 HIREA AR, EXHE A LR REA T BRENER,
28. [@H# ) “Provincial "z A fEdg_

[ERRBN)A. WiCE, mEdy:, FER =B — N RE S, 2EA SRR T provincial /9, [fij H &
BUSGTE L #0A9 355 . AT I . provincial RAETE FE LA RFR A,

29. [EH#Y] M%E&%ﬁﬂ‘]ﬁlWétﬁ&%@(éi@%%ﬂk#lﬁﬁﬁ\

[ERBERY ] C. M. 68— BiEzits. REARHAEE ISR A 7S | Bt AR A58,
R AHBRM [5]47 LU AR 4 %,

30. [ & B # X | A3E6R %M Ted Turner 1582 il 7

(EXRERH A, H08, 05 B, Ted Tumer BITE A “SMEK)" X MAKARLLE CNN HriE %o
B B A, %ﬁkiﬁiﬂﬂéﬁﬁ%tﬁﬂ%@ﬁﬂﬂﬁ*ﬂmﬁi, DR FHRAECEBA—F “SNEH 475, RAPES
B A A 2 B B I LA [ R R K
Passage Three

Brazil has become one of the developing world’s 31, According to the passage, Brazil has cut back its
great successes at reducing population growth—but more A population growth
by accident than design. While countries such as India
have made joint efforts to reduce birth rates, Brazil has
had better result without really trying, says Georg
Martine at Harvard.

Brazil’s population growth rate has dropped from |\ 32. According to the passage, many Third World countries
2.99% a year between 1951 and 1960 to 1.93% a year 4 \T5

A) by educating its citizens

B) by careful family panning

C) by developing TV programmes
D) by chance

between 1981 and 1990, and Brazilian women now have A) haven't attached much importance to birth control
only 2.7 children on average. Martine says this figure B) would soon join Brazil in controlling their birth rate
may have fallen still further since 1990, an achievement C) haven't yet found an effective measure to control
that makes it the envy of many other Third World their population

countries. D) neglected the role of TV plays in family planning



Martine puts it down to, among other things, soap  33. The phrase “puts it down to” (Line 1, Para. 3) is closest

operas (B IZELSER] ) and instalment ( 5}HA1HE0) in meaningto“____ 7

plans introduced in the 1970s. Both played an important, it A) attributes it to
although indirect, role in lowering the birth rate. Brazil is B) sums it up as

one of the world’s biggest producers of soap operas. C) finds it a reason for
Globo, Brazil’s most popular television network, shows D) compares it to

three hours of soaps six nights a week, while three others ~ 34. Soap operas have helped in lowering Brazil’s birth rate

show at least one hour a night. Most soaps are based on because

wealthy characters living the high life in big cities. A) they keep people sitting long hours watching TV
“Although they have never really tried to work in a B) they have gradually changed people’s way of life

message towards the problems of reproduction, they " C) people are drawn to their attractive package

describe middle and upper class values—not man D) they popularize birth control measures
Pp! Y o Y pop

children, different attitudes towards sex, women /35. What is Martine’s conclusion about Brazil’s population

working,” says Martine. “They sent this image to all growth?

parts of Brazil and made people conscious of other A) The increase in birth rate will promote consumption.
patterns of behaviour and other values, which were put /B) The desire for consumption helps to reduce birth
into a very attractive package.” " rate.

Meanwhile, the instalment plans tried to encourage K C) Consumption patterns and reproduction patterns are

the poor to become consumers. “This led to an enormous contradictory.
change in consumption patterns and consumption was D) A country’s production is limited by its population
incompatible ( NHAZF) ) with unlimited reproduction,” growth.
says Martine.

[XEXE]

%ﬁk#%ﬁ%-%Tﬁ,&@ii&*@ii&%ﬁAa%kﬁﬁmﬁﬁﬁ%%,ﬁiikﬁ%%xiﬁ
ﬂﬁ%%.ﬁi%%%.&%ﬁ@&i#%@i%h?&%%%ﬁ@%ﬁ&iﬁ,ﬁ%a&m%&ﬁ%mﬁx%
#FRA B T FAFAHROR.

&&Aaﬁ&$ﬁ4%l#ﬂl%&%zm£z%%,ﬁl%l#ﬂl%0$mﬂ¢&$T&ﬂTL%%,%E
a&@&%ﬁékﬂﬁz7¢&%cgfﬁa1%0%i¢ﬁ$ﬁ%£mm;z#%ﬁ%&a&%ﬁﬁwﬁi&
FE R

LTRADEARRKGBRRALZATHE, —ALRLE, % —A270 FRIING AT, LBHAR
B AL MR s A o AR AT B T ) 4544 BHREFELNOER, CHIEREL P lLLER S HERXZ— Bf
i%ﬁﬁﬁ%ﬂM,GMm,&Eﬁﬁ$%iii%ﬁi¢¢ﬁ%m%ﬂ,ﬁi%%i%&%i?ﬁ*ﬁ*ﬁ\
REBICLRBIG A ER B FELEKRT P EAM LS.

%Tﬁﬁﬁ%i%m%ﬂ%&ﬁi&#ﬁiﬁﬁﬁﬁ,ﬁ?ﬁ#%??F%ﬂ%iéﬁ%%%ﬁ%:&ﬁ
k%%%,ﬁ%ﬁ%%ﬂ%%,u&ﬁ#%mlﬁ;m%wmiﬁ—ﬂﬁﬁmﬁAﬂ%ﬁa&A%mﬁg#,&
AMEREIFALM 1T A 7 XA MEARA, = L RARIEL B 6,8 EEAET] S 7

ﬂﬁ.%#ﬁ#ﬁmﬁk&%%ﬁ%;%T%NﬁﬁAﬂ%%ﬁﬁiiiT&k%i%,ﬁ%ﬁ#iﬁ%
AR R RME
31 [ 8 H# X ) B ARRR T i %0

(BXRMH I D WICE. FRUREE. S “by accident” HIEIH “by chance” iZE5E4L—

+ Q.



B, R HTER.
R [BEFN] REF-HAEEK__

(BERBH ] C. H:LE. B S vuR SR LERME T & F ENS S REEHAR, HE
PURABA SIS T B a5 5, T HSE BB G — iS00 XN U 7 B Hoth % 8 v R b S 0ot
7. FHEHMMCR “WARIAKOEHA DR L.

3. [MEHFEN] “Putsitdownto” HEE

(BRRBA ) A, ENCE. SCEELRBHRI A . A PEA R H T AL %R, B
R, BUBRBIE N, SRESHE RN, X AMEE R EENE CHE T
34. [BER X ] AEERBBIRER T OB ARER Y

(ERRWH B, 8. 20BN, WML B 2R B BRI X, TiARA RS
REET, M PHASE T HIE LB T, 55 ANTEERA S AMF . W T TR TR =, X se
WA H B FREE AR,

35. [ @ H#¥ X ] Martine % F 75 A 8K (%58 A 47

(XRRBH IB. 98, AEEBHE. SMAAT R QISR ST AR T %, M 0 2 RTE S 4 i 4

BRAHEK".
Passage Four
There seems never to have been a civilization 36. The reason why the toys most boys play with are

without toys, but when and how they developed is different from those that girls play with is that

A) their social roles are rigidly determined
£ /

unknown. They probably came about just to give

children something to do. B) most boys would like to follow their fathers’
In the ancient world, as is today, most boys played = professions
C) boys like to play with their fathers while girls with
their mothers
D) they like challenging activities
pattern their play after the activities of their fathers and  37. One aspect of “the universality of toys” lies in the fact
girls after the tasks of their mothers. This is true because that .
A) technological advances have greatly improved the
durability of toys

B) the improvement of craftsmanship in making toys
What is remarkable about the history of toys is nof depends on the efforts of universities

with some kinds of toys and most girls with another. In

societies where social roles are rigidly determined, boys

boys and girls are being prepared, even in play, to step

into the roles and responsibilities of the adult world.

so much how they changed over the centuries but how C) the exploration of the universe has led to the
creation of new kinds of toys

] ) i # ) the basic characteristics of toys are the same the
been mostly in terms of craftsmanship, mechanics, and " world evar

technology. It is the universality of toys with regard to /38. Which of the following is the author’s view on the
their development in all parts of the world and their historical development of toys?

much they have remained the same. The changes have

persistence to the present that is ing. In Egypt, the T A) The .craftsmanshlp in toy-making has remained
) o ] essentially unchanged.
Americas, China, Japan and among the Arctic ( JLE: ) ) B) Toys have remained basically the same all through
peoples, generally the same kinds of toys appeared. the centuries.
Variations depended on local customs and ways of life C) The toy industry has witnessed great leaps in
because toys imitate their surroundings. Nearly every technology in Teccnt years.
o . . D) Toys are playing an increasingly important role in
civilization had dolls, little weapons, toy soldiers, tiny shaping a child’s character
animals and vehicles. 39. Regarded as a kind of art form, toys
Because toys can be generally regarded as a kind of A) follow a direct line of ascent

.10.



. . tly to adults
rm been subject to technological- #¥i B) also appeal greatly
Sy s - - \C) are not characterized by technological progress

D) reflect the pace of social progress
progress from the wheel to the oxcart to the automobile ~ 40. The author used the example of a rattle to show that

leaps that characterize inventions for adult use. The

is a direct line of ascent ( ##5 ) . The progress from a : . _ S
i A) in toy-making there is a continuity in the use of
rattle( #RIBEX Jused by a baby in 3000 BC to one used by sferisle
an infant today, however, is not characterized by B) even the simplest toys can reflect the progress of
..o\

inventiveness. Each rattle is the product of the artistic technology .

2 " ¢ C) it often takes a long time to introduce new
tastes of the times and subject to the limitations o technology into toy-making
available materials. ‘D) even a simple toy can mirror the artistic tastes of the

time

[XEXE]

HAALETHEM—AXRALEP, ERRALREERLEH LAME, B MEEARRY, K— SANERioiE, A
THEMZHARERE, REAZLEZTNR—LFHH,

MERE|SRIAZ—H6), BHURAHZEERL, RXRAHRHI—RREL, EHESAESHKRETNLES
L9, BERABKAG LFGITH, MABRHRLEGFFGITH, T B HA KR ARG M3 E
BAEARRTARARS, BEEARRNACHEST.

RRFBP X, BMNEKAZIAZR HHF R TN E I H M TiLm B, B2 SR A a8 AL 4%
BALE, ENARZALEIYL  ARFHAFT B, EREWTELGEE T oMM, B LCIHRESREES, X—
BAFAART., ARA . EM, PE. IALZLBURHAR Y, AEL LR XKHRGIL, ERRLR
Bl #4307 UL & T B3 RAGFo £ F T Rk 28y, BAREL EFRER 845 B BRI, JU-FA A 64 oA A if
B, PREBE. RALE, I REAE,

B ATE T ABAA —FFERBX,, FIAEMNEAZBHRE R T OH 0, X—Sfo s Al A0 LAHRKR
Ao NERIFERBHAE, IA-NEXRETOHF, 22ALI 3000 5693 F AR B Fo b % 3T A
PR BIFRA S R8I, B A REARFE SN L RERA R, T25 % seBR B e HH 0.
36. [ @ B# X ) w2 BBEMLEZMTERR?

[ZERRH ] A W, A% B, FERETAIIRNHSH AT,

37. [ @A# X ) mAMERERY, —MHEET____

(EXERE | D 4008, =B =4, FRAEMAK IR RKERE A RS AL,
e K, EM, PE, BA, JURHBX, FEQOEELET.

3. [AHEX] XTHAMNHLERE, EHEOMWSRE

(EXREH | B. WWE. EE=BE—E, XTHRAENGE, S ABEKIERAREITMAET LD, i
REMN—EHBRARE.

30. [ @E® X ] ABIANR-FERER, WA

(EXRRBH ] C. AW, EHNUBRE—AE, TEEN—FERER, HAZEH RSB
40. [ & B 3% X ] fe# AR Ao 1 Rk

[ZERERIT ) D. W8, BERAER—ATTAT 3000 45 /95 L FIA9H RS04 K % LA fd Bl ik
REOFBEAHAARR. B MEIRBERR SRR BOIA ™ 5, 1 E 2B a] LU R RHBRE] . 57655 D
“BMeE — TR B A BT AR BT U BB A 2R Sk IR
Part III Vocabulary and Structure
411 B U] thEDRAEMGE, AR & ANTRAET .
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[ 5 X% BN ] B, AEEETRNPMT by ML, “by+ HRMEANE" A%EFERN,
42. [ B X ] Rk, EXFGETH XA ZRERRTL

[EXK BRI ]D. “bothersb. withsth.” REEHE, FHh “URFRMESITIREEA". A) interfered £ with
BE, BX “T¥, TH#H". B)offended BX “BIHMA, HEAAN", C)impressed - BT EIR,

43. [ B X | mEFREAELEEYT, RLSBAXRMEEE,

([ZEEREH ] C. THRRBMNBIIES. £AH “would have done”, FfliEIREZ LT EM B,
44 (BY ] EZF, SFEANREE S0 X3 4 £ A%,

(ZEERBREH B, range from..to BEEE, BXH “B- B R, A) altered BN “RERHERBUMY
ZEF)” . C)separated BH “4FF, S4B, D)differed BH “5F--KRF",

45 [ B X ] ABMER-EABMBHELRER.

[EXR#H ] D. leave sb. doing sth. B A “ff---- b TFEMRE", HERMARERRARS “—HLETE
FRA”, leave FRAERMEIEY “BH (EA) BEE", RERE, A% wonder SIMERR HELE “me”,
WO 3 AR S ETE
46. [ # X ] RUT LB IR AR X TR ERAR &

[BERBH D, ABEERERXMEIERE “o” MIFFEH:, feel, hear, listen to, let, make, have, see,
observe, notice, watch ZEAEBAERMERT, to EHE,

47. [ B X ] BOWILFEREBRMZHAF, XA SHERMBRBRE,

[ R Rf#HT ] B, B) take up BN “FFIABET, HEFLE", A) take in BH “Hi, HE", C) take over
BN B8, D)take after BH “MEAKSBE, BB,

48. [ #X ) FFRE#, WMEFHELN, ,

[EERBH ] A, AEEEMAHAGE, SAZEEIER house, FTAR AR EMRAUFRRYES, BREDE
Al ALE BB URR MRS, MEA EEHTHREEN MR, BUERME A).

49. [ # X | RESEMMNBAEIMEXREN, HILTHA & EREEERMN,

[BRREH ) D, Ablank Z2HM (4K), BF “=H, BAFL", B)hollow BH “HREISHK, TR,
C) vacant By “Fg LR, D)bare BN “HEBHK, HREHN .

50. [ # X | A RATREMTRESARET, BN HBHERE, MUSARSHE,

(EXERH ] D DEREH, H=0Fr “XF",

51. [ # X ] HEXMTHRRSGERBIHKE,

[SRHEBH ] A, “be disappointed with sb./sth.” NEEER, FR “WENESRILE",
52. [ X ) B - BB, BYLRENGESE, BB IESMARB hEEZEHNH .,

[ZEEREBIH ] C. C) vigorously B “IREUML, PURM". A)peculially B “MiFHh”"; B)indifferenty XK

‘B, BRLLH, D)inevitably 2y “ARAlESH”,
53. | # X | RAEN YBURFR BB L S RMIIERBELRA TFARNEE,

[EZRBY ] D, As ik RRFA G REMFEENE, FERMYT which,

54. [ X ] AfNZlknt, TEAEEEE LTLERETEE,

[ZEERE ]C. B)poverty BXN “#%5", 5 belack of money HE, HWAEGHAE. A)laziness Bl “Wig”,
C)idleness B4 “JFrHH”, D) inability B “WHRES, TRE”, LIPEHEE,. BEBEAETAAMILLER
BRI A . T SEMF LB, HPaiE (idleness) EMEKILE, HERMNLE C).

55. [ # X ] BB IR, BBERBEEAHT .
[ Z R BN ] B, el B RENREEEE MR TIE . 2655 HEEN A REE,

‘12.



MOERREE B), HPEEEA that 5 which BEIEET .
56. [ 3 X ] AR, AREMEBHHERBETRAZMNE .

[EERRH | B, A) Dislike fESAIRAAMN RN “RER. KE", 5 Like #%f. B) Unlike Hy/riAs0E
FREN MR, HeoRRA. C) Alike ERBEASAIRZN BRI, FRHH", D) Liking 4
&R “WLF, X", H541 for #$AL e.g. L have a liking for sweets ( REBWZHH A ). B4, o
HIbi2s B R A — AR R AR UERIE, BUSRRIEE B).

57. [ # X ] XFMEY AR SH—FMREL, BAHNEHEHER TR/ 1%,

[EERRN ] A, AEEEMAEEHRBORE, HAERERRERE, FERFTRSE. 0k
HIBR, TREATRAEAER, WERMEA ),

58. [ B X ) MXFEET , BRINSKE—EZETRE.

[ERERY | B. REATERMNTTRANERRSNEEXR, FUSALR—-RREERER, &
HEBREETR C) Before 1 D) While, A) For I B) Since #86] 5| R BEHARE . Since AIBIENE AP . For Bk,
wFER ‘BN, BT, EESISHRERRENIRERENY . FEERES SHim#aait.

59. [ # X | FEABRENFREY, BIbfIABESETSH RIS HIRA,

[ERERE ] B, A)batteries % “H¥”, C)baskets BN “B5F", D)barel BXN “Hi. & (M) ", ¥
REEER . B)bargains BH “325, WHhiEM, $M&, EHE.
60. [ # X | RATE A MEEIER FUARTLUEDIAZRITRABRIE,

[EXERE ) A EESHEEXMTRIAAL seldom, hardly...when, in no case, in no way, under no
circumstances 575 4) B B 5| RIMEL . FERAMR AR ESRAHIAENDEGE, MAGEREEE, &
T D) did we use BfZAAR, that NAIKNARRRERET X,

61. [ # X ) LIRTAME0ET, RERELSTFIERI—-FHEYRE.

[ EZ KRB Hi ] Do be in short supply R EEHE, T X “HHEAL", A)store BN “#8FF", B) provision %‘
K O“PERE”, C)reserve BN “BE% (HTH. AMEHAMYE ), = MHETEAMES in short #HL,

62. [ B X | (EARENARRIEET . RaSRE— TR LIB#.

( & RRMNT ] C. AEEERBEESHRAE, DmtET%T?X B, S REHRR, HEENG
i should+3HiAFEF R EHl, HH should T LIRS .

63. [ I X | MASEAIRANMIBIME T . BIEMS H RIS DA S B AR A,

[EXRRARE ] A REEAZEHMRABE, BRETHERMEME S EMIBINZAT, W Ea/Mas
W RIS BRI R E, BUERRIE A), )ﬂﬂinﬁiﬂt
64. | B I ) BAGESS, AT ¥/ EEp e .

[ £ERERH | C. Arrange the room 5 tidy up the room #RAI F/RBHBA], (H/FH AR ALELH RIFEF R
B, AJFRIEERS> After the guests left 13 S5 BEXTRI. A) ordering A “BH, BHE” Z&, WEGFHLEEH
$##%. D)clearing away ( HR % ) 15 sitting room FAEHEAL.

65. [ B X ] tfERIeE, RIEEITHIES M.

[ EE R ¥ ) B, Onthe point of EIEHEE, FHh “¥lf, IEE (HMEIHH ), at the point of FH “JLFE",
66. [ B ] @ik, RAEXEAMIATUAE-RZAREEARDINEREN,

[ ER R A, A) other than X4 F except, BH “BRT -+, BT - 25", BTFEHEHALR. B) more
than FRBERHE, BH “BHE--, Kﬂﬁ% """ ", C) better than N—RLLELEHI . D) rather than B

67. [ # U] —FFEERSTHRMZE, MﬁﬁiT
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[ ZERREBH JA. A) ran over BN “( 45 Y-~ $%2”, B) ran into N “F0------ 3 |k, #W."; C) ran through
Bh O (£8%) AR, it (F) 12—, D) ran down BN “HEE, B, WHEEL", SEHBHEEKH
Wik, '

68. [ I X ] XV T 2000 4ENER TR B SBEHREIERED 2 100 TR/

[ERERN ] Cc. 2EEARERANSEAMKT], RERXER WRBEE, REK”, #THERR “E
BEE, MERRSNERR ‘B RE, RXHEERMER”, XHT project 1 accomplish 2 [AIE P
KR, BNEEFENESHAER, BPEHRC),

69. [ B X | HiFEERINES I BB RFEMHN.

[BERB BN ) C. ZEEAEWMT. AFRAEEE, BLHERET A D), BRAZHPEERER S
ENEPREYEE. BiE, RES, WD tat NASHTE, SOGHERRREHETIEE, XEHREES C)
HIEBER, B that WAIHE evidence RIFRINIIE .

70. [ 8 3 | MEREMARNGLRES, RIOHEFER.

[BER®H ] A. A)appreciated BN B, K, B, W,
Part [V Short Answer Question
St [ BHEX | AWBEH— MBI AR T REPL VA TENIFREHE?

[ ER K& 4 ) Survive/ Economics./ Money. £ 58, A3CHaIRIOLIME TN, EEBEHCHE
RigthALfohsMh TAERPGER R TR, SRR, HIRFEIRLRAERESHBAES, L
HERENMTREAL, ERE LIR—FMEE, BN RA LI B4R (survive ), /5 TH XS “economics”
1 “money”, FRALLMITAMER, EBEEHENE “B—E", FLUERABL—E, 2TRENSD
o .

S2. [ @A# X | A4 Marge Rl R IAN Marge BB TAERALR—T “EHE" HFH?

[ £ XK ®H ] Because they might end up with less money./ Because going back to work might cost more money.
WP, EE_BPEEA Marge —ZFNHEIERAA R AL TR TEREE, MITAB M ERITNET,
mMRBEFAARE/NENGRA, CERFAMBRINER, TTHEILERRA LA TERED,

S3. [ R H# X | EPvE LR EMIKH & TENH BB FEMBIE?

[ & X R % # ] Economic factors and emotional needs. ¥, B =B H—ME AEHAREH “GHFERE
HRRAHEBOHE, HEHARBREEN. BEEMNEFERANBERR.” FUFTEZTEXH MERBAERE,
S4. [ @ HE X ) AP4 T BHEESEREBRE T HAR LAERE S iti 183 o

[ ZE KB H ] deeply satisfied / the deepest satisfaction. 45 W, FEMEBENERFNHEEET RFENFTAR
FZEM BN, “FRELIARFERESR, NRBIIASRAMBTFRERD, BNAEHNENEK, Bhf
WAL IA IR FEA T TR R
S5. [ MH# X | mMRAEREENNIS, EETTRE o

[ ZRR MM ] stay home. R, ERE—B, EEALTHEKHHAT. BN FACERESEET
fERB et FrLlLU R, REFHREENIS, MERAERE.

Part V Writing

[ 5 B | ASCR MBI LR RIMBGE ST, AHRRE, ERBRITLB SRS, FHAHACKHE
%o, EERANENTEILE-LFANNEMGEH, ITX (WERIRFERNFEHBAEXECEFH
iol: DR
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